326 E/C (2)

}/ The Chipko Movement is an example of
(1) Peasant Movement

(2) Workers Movement

(3) Ecological Movement ©

(4) Dalit Movement

4

Match the following individuals with their contributions t0
List-1
(Individuals)

(A) Raja Rammohun Roy

(B) Fardoonji Murzban

(D

(IT)
(C) Ishwar Chandra Vidyasagar (Im) ‘
(D) Jawaharlal Nehru avy '

Choose the correct answer from the options given
(1) (A)- (@, (B)- (), (©)- (), ®)-aV)
@ (A)- @, (®)- @, ©)- @, ®)-aV)
@) (A)-AV), (B) - (), (©) - M, () - @D
@) (A)-aV), (B)- O, (C) - (), (D) -P " e
3/ | Who among the following is credited W
(1) Leonardo da Vinei i
(2) JohannGutenberg &
(3) Galileo Galilei ¢
(4) Isaac Newton

}/ In South Bihar, the locals have a common
these migrant groups known as ?
(1) Nakarattars
(2) Adivasis
(3) Dikuse
__(4) Oraons

SPACE FOR R
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326 E/IC (3)

5/ According to one of the theories of social movemen
is worse off than others around it. What is s theor
(1) Theory of Relative Deprivation®.
(2) Theory of Reformative Action
(3) Theory of Redemptive Action
(4) Theory of Resource Mobilization

* _1
o8

Which of the following characteristics are ass_ociaa with the Women's Mover
(A) Involvement of women in nation building tash:

(B) Growth of autonomous women’s movement "=
(C) All women suffer discrimination at uniform gkel
(D) Change in ideology and organizational strategy
Choose the correct answer from the options given below :
(1) (A),(B)and (D) only

@) (A),(B)and (C)only

(3) (A),(B),(C)and (D)

(4) (B), (C) and (D) only

7.  Match List-I with List-II :
List-I
(Name of Sociologists)

pliegedu ;

cl:
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326 E/C

(8./ Match the following concepts (List- »
List-I -
(Concepts)

‘Total Fertility Rate

Infant Mortality Rate

Maternal Mortality Rate

Choose the correct answer from th .

(1) (A)- @, (B)- D, (C) -

2 (A)- @, (®B)- ), (C) - (I, D) - ¢
@) (A)- @, (B) -, (C) - V), (D) =
(4) (A)- (), (B) - (IV), (C) - (@), (D)=

The statement "The changes brought aboi
British Rule, the term subsuming changes ocet
and values" refers to the process of

s

Fill in the blank with the correct answer 0l
(1) Sanskritisation
(3) Westernisation e

10, In Begum Rokeya Sakhawat’s book S
_/ men ?..., where they ought to be...we shi
these lines describe ?

(1) Double standard imposed by male¢
(2) Comparison of work done by men and*we
(3) Reversal of roles of Gender » :
(4) Challenging patriarchy
SPACE FOR ROUGH WORK
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326 E/C

}/ According to one of the theo!
is worse off than others around it. W
(1) Theory of Relative Dep

6.  Which of the following charact
(A) Involvement of women in n

(D) Change in ideology and o
Choose the correct answer from th _'
(1) (A),(B) and (D) only |
(2) (A), (B)and (C) only
(3) (A),(B),(C)and (D)
(4) (B), (C)and (D) only

(A) Nicholas Dirks

(B) Louis Dumont
(C) Patricia Uberoi

(D) Andre Beteille

L ¥ -4
T
-

Choose the correct answer from the !
(1) (A)- (), B) - (1), (C) - V), (D) (Y
@) (A)-(1),(B)- (), (C) - (IV), (D) - (Il
(3) (A)- (), (B)- (), (C) - (1), (D) - (AV)
) (A)- V), (B) - (1), (C) - (1), (D) - (1)
SPACE FOR ROUGH
noue
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326 E/C
(4)
(8./ Match thf.: following concepts (List-) with their appropriate description (List-IT) :
iy List-II
e (Definition)
(A) Fertility Rate (M
(I1)
(B) Total Fertility Rate
(C) Infant Mortality Rate
V)
(D) Maternal Mortality Rate avj

Choose the correct answer from the options give:
1) (A)-®, (®B)-dD, (C) - (), (D) - (IV)
() (A)-@, (B)- ), (C) - (D), (D) - (V)
(3)(4)= (D, (B) =), (C) - (IV), (D) - (IIT) &
4 (A)-dD, B)-av), (© -®, (D) -dDn

9 The statement "The changes brought about in Ir
British Rule, the term subsuming changes occuri
and values" refers to the process of
Fill in the blank with the correct answer from the
(1) Sanskritisation
(3) Westernisation e

10, In Begum Rokeya Sakhawat’s book *‘Sultana’s
_/ men ?..., where they ought to be...we shut our
these lines describe 7

(1) Double standard imposed by male domina
(2) Comparison of work done by men and w¢

E
g
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326 E/C

y/ For which of the follo
'~ (A) Decline o ‘

(B) Opportunity for ear
(C) Sufficient work oppor
(D) Relative Anonymity .
Choose the correct answer fro
(1) (A), (B)and (D)only
@) (B),(C)and (D)only
() (A),(B).(C)and (D) *

Which of the following factors was net responsii@é for unification
(1) Socio-Cultural
(3) Political

~ Which of the following factors was not consiMered sig
India ?
(1) Development of heavy and machine-making

(2) Expansion of the public
(3) Presence of a large coop: _
(4) Role of coastal cities for trading purpose ¢

In which of the following States iS{Bir}
(1) Assam
(3) Rajasthan

%‘he term “‘prejudice’’ refers to

Fill in the blank with the
(1) Community identity
@) Social inequality

(59
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326 E/C
Read the given passage carefully and answer the next five questions.
the collapse of the €

(P 326

In many ways it was a major political change, namely, rstwhile socialist world that hasteneq
globalisation and also gave a specific economic and political approack ( solicies that underpin
globalisation. These changes are often termed as neagliberal economiCHm
concrete steps the liberalisation policy took in India®®Broadly,

=]
engm‘ggwhich believes that a free reign to market farces will be’

of both State regulation and Staté subsidies. The ex%ng proce'_
political vision as much as an gconomic vision.
- What does the term ‘liberalisation policy’ refer tasn the given p
(1) Regulation of State subsidies ® by
(2) Regulation of market forces
(3) Regulation of social welfarism
(4) De-regulation of market forces
}6./ What is the central political vision reflected in the €conomic |
(1) Free enterprise® .'

My

(2) State subsidies =

(3) Centralised power o

(4) State regulation "‘ﬁ
1?./What is the economic measure that accompani@the collapse ¢

Globalisation ? O

(1) Conservative measures zg

(2) Welfare measures
(3) Neo-liberal measures »
/(j) Protectionist measures
20, What major political change is highlighted in the passage
(1) Collapse of Welfare State
(2) Collapse of Capitalist State
(3) Collapse of Socialist State #
(4) Collapse of trade protectionism

o &#

21. According to the passage, what is the political vig&u behin
/f (1) It supports State regulation <
(2) Itis critical of State regulation »  Ag ( A'ﬁ'\
(3) It advocates for Socialist St T

() BOECIl 5
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326 E/C
Read the given passage carefully

My grandfather, like most Nagas W

was the only way to get ahead in | .

British administration and missionaries

far as Shimla, My mother was encou

an education in these new times, S
Vijaylaxmi Pandit, who represented |

himself through the local mission scho

able to, chose to get educated in English. For
where tribes that live no more than

which they could communicate amc

North-East ?
(1) Urbanization
(3) Western education®

/ Accolding to the passage,which ofth" followil , aatewav t0 uDWAard
(1) Politics

XB) Cultural change I : (4) Social change
'\ Name the process through which the movement of individuals takes pk

improved status.
(1) Sanskritization
(3) Assimilation

%S/"Who among the following representet
(1) Jawaharlal Nehru
(3) British Missionaries

_26._Which of the following is the reasor
tribes ?
(1) Use of English language ¢

(2) Missionary help

(3) Naga leaders

\J

() =I¢J=Iqll ‘
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27. - Which of the following Sociologists argued that Sociology helf
/ between “personal troubles” and “social issues” ?
(1) Durkheim
(2) C.W.Mills ¢
(3) Bourdieu
(4) Weber

28, Which programme of the Government of India directlyfarg
/ (1) Widow Pension

(2) Pre-Natal Diagnostic Techniques (Regulation an

(3) Beti Bachao Beti Padhao '

_44) Sukanya Samriddhi Yojana

29. Which of the following statements is true about Colonialis
(1) Parochialism gave birth to Colonialism in India,
(2) Colonialism gave birth to Nationalism in India.
(3) Urban poor were the main carriers of Nationalish

(4) Capitalist economic changes in India were not relate

30. Match the following terms (List-I) with their descript

s \ List-1

(Terms)

‘ (A) Varna syster;f 5 (D

\ (B) Scheduled Castes (11)

\ (C) Sanskritisation (I1I)

\ (D) Resistance Tribes (Iv)

Choose the correct answer from the options given b
(1) (A)-@), (B)-(II), (C) - (111, (D) - (IV)
(2) (A) - (), (B) - (11I), (C) - (1), (D) - (IV)
(3) (A)-(1V), (B) - (I1), (C) - (1), (D) - (111}
@ (4)-D), (B)-AV), (C) - (1), (D) - (111)

SPACE FOR ROUGH WORK
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326 E/C

3 }./Whjch of the following are arguments giv

32.

33.

economic function ? 1

(A) Layout of the market symbolises the

(B) Few goods are free in the market f

(C) Different social groups are located ac
market system.

(1) (A),(B)and (D) only *~
(2) (A)and (C) only

@) (A), (B),(C)and (D)}

@) (A),(C)and(D)only e

' Which of the following principles are app :

(A) Birth

(B) Marriage
(C) Food Sharing
(D) Occupation

Choose the correct answer from the options given beloy

(1) (A),(B)and (D) only
) (A),(B)and(C)only
3) (A)(B),(©)and(D) °
(4) (B),(C)and (D) only

ow has national development impacted ribg
(A) Tribal areas located in mineral rich ar
high price for development.
(B) Large dams, factories and mines Were
(C) Tribals were dispossesséd‘of their lan
developments benefitted the th

ect answer from the option
d (D)




326 E/C (10)

e

34. Which of the following statements are true about stetgotypes ?

36:

37

(A) Stereotypes are often applied to ethnic and raqﬁ groups.

(B) Stereotypes fix whole groups into single entit%;

(C) Stereotypes refuse to recognise the variation aEr?ss ind
(D) Stereotypes are partly colonial constructs. &
Choose the correct answer from the options given l;Qo _
(1) (A), (B)and (D) only

@ (A), (B)and (C) only A

(3) (A),(B),(C)and(D) * i

(4 (B),(C)and (D) only

2~ In every society, some individuals have a greater share Of value

prestige etc., — than others. These social resources@n b
them from the following.

(A) Economic capital -~

(B) Cultural capital - %

(C) Social capital T

(D) Educational capital

Choose the correct answer from the options given bel

(1) (A), (B)and (D)only.*
(3) (A),(C)and (D) only

" in which year did the first Backward Classes Co

(1) 1956
(3) 1950

Which of the following arguments are correct abouJa
(A) Adivasis were always the oppressed group, asit
(B) Tribes were absorbed in Hindu society througl$
(C) Tribes oceupied a special trade niche, trading
(D) Adivasis often exercised dominance over the.
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Mhat ‘was the qpinioﬁ-_{ f
Constitution ? -
(1) He believed that local elite

(2) He thought that local self-

(3) He believed that local se

(4) He believed that local self-goy

39 Which of the following is nof an ex
(1) Membership of family
(2) Membership of religious gro !
(3) Membership of a profes:
j/ Membership of caste group

" Which of the following Articles of the Co

granting aid to such educational institutions ?
(1) Article 21 3
(3) Article30 »

Which of the following statements about Com nualism are

() =I¢J=Iqll ‘
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326 E/C ( .
43. Which of the following are true about Gram Sabha |
(A) The Gram Sabha collects central taxes from th¥
(B) The Gram Sabha consists of the entire body d
(C) The Gram Sabha is the general body that cle :
(D) The Gram Sabha participates in village-level doyelopm
Choose the correct answer from the options given bel
(1) (A), (B)and (D)only » &2
(2) (A),(B)and(C)only * \
(3) (A),(B),(C)and (D) !
(4) (B), (C)and (D)only +
How did the Supreme Court enhance Fundamental Righ
Article 21 ? :
(1) By restricting individual liberty.
(2) By narrowing the scope of Article 20.
(3) By expanding the interpretation to include varihls aspet
(4) By expanding the scope of Fundamental Duties

45. Who amongst the following Sociologists remarked thi
be democratic in their structure and functioning 2
(1) Tiplut Nongbri *©
(3) Verrier Elwin

46. Match List-1 with List-IL.

(Dominant Caste) R
(A) Rajputs X
(D) Kammas . - m.

Choose the correct an _& RP—
(1) (A)-(IV

(2) (A sﬂl

(3 -

() BOECIl .
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47.  Which of the following festivals are related to
(A) Bihu -
(B) Baisakhi *
(C) Holi
(D) Pongal - .
Choose the correct answer from the options given bel
(1) (A), (B) and (D) only
(3) (A), (B), (C) and (D)

48. Which of the following are the indicators of glabalis:
(A) Contract farming . AN
(B) Increased dependence of farmers on fertilisef:
(C) Promotion of indigenous knowledge for ¢
(D) Entry of multinationals into agricultural s
Choose the correct answer from the options given be
(1) (A), (B)and (C) only
(3) (A),(B),(C)and (D) .

Under which of the following systems is all wo__i'
divided amongst the workers ? i

(1) Binary System

(3) Flexi System

() =I¢f=Iqll ‘
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